
25 9 20 18 2 4 5 6 23 2 14 14 6 14 5

9 26 17 15 6 19 2 26 6 5 6

20 6 15 11 9 9 9 5 14

23 2 14 25 10 21 2 11 4 9 25 5 6 11 22

7 22 20 3 11 2 4 13 2 4 2

2 26 10 17 10 11 2 6 24 6 5 15 7 1

14 25 5 25 4 8 5 15 2 7 11

6 12 15 6 25 5 10 15 6 25 5 11 6 8

11 4 2 17 23 11 2 25 25 2 5

21 6 4 9 9 1 10 22 5 2 1 23 2 11

24 5 23 7 2 5 11 8 16 2 2

6 5 5 2 25 5 14 6 23 9 14 22 10 5

20 6 2 25 5 6 26 13 6 10 11

6 14 5 10 16 9 2 26 6 11 5 10 4 26 2

4 5 9 22 26 8 10 9 6

9 7 2 6 11 7 1 6 7 11 5

25 3 7 26 26 2 14 3 13 2 14 14 2 26 25

 1  2  3  4  5  6  7  8  9  10  11  12  13

O
 14  15  16  17  18  19  20  21  22  23  24  25  26

H S

5 15 2 12 11 2 6 5 2 25 5 7 24

24 6 9 26 5 25 10 25 5 7 20 2

4 7 14 25 4 10 7 9 25 7 24 14 7

14 7 14 2

IN  THE  GRID  BELOW  IS  A  QUOTE BY THOMAS CARLYLE

  and fill in the grid. Once completed it will reveal the quote in the grid below
Each letter of the alphabet has been subsituted for a number. Find out the number for each letter
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